
555 E QUEEN CREEK RD 
CHANDLER, AZ 85286
855-680-9595
WWW.DV8OFFROAD.COM

PRODUCT 

INSTALLATION MANUAL

TOOLS REQUIRED SKILL LEVEL TIME REQUIRED 
- 17, 18mm Socket
- 19mm Wrench 
-Thread Locker

Before you install this kit — Read and understand all 
instructions, warnings, cautions, and notes contained in 
this installation instruction guide. Consult your vehicle 
owner’s manual for proper disconnection of electrical and 
lifting of vehicle if required for installation of this product.  

This install may require some technical skills and 
knowledge of basic mechanical work. If you do not feel that 
you are capable of performing this install please take this 
product to a trained professional.  

After reading this guide please contact us with any 
questions or concerns before installing product.  
Customer Service: 855-680-9595 

DV8 Offroad is not responsible for any bodily injury or harm to you 
or your vehicle as a result of an improper install.

- Novice/Intermediate 
- 1 (you)  

Little skill level required, you can 
easily install it by yourself however, 
additional help will be useful  

- 1 Hour   

Time to install this should only  
take about one hour  

WARNINGS/CAUTIONS BEFORE STARTING INSTALLATION

855-680-9595NEED HELP?

REAR SHOCK SKIDS 
10-23 TOYOTA 4RUNNER 
SPTF3-01



INSTALLATION MANUAL

NEED HELP? 855-680-9595

STEP 1  |  Slide the skid plate over the 
lower strut mount, and loosely secure the 
factory shock bolt and the provided M8 
hardware. 
 
Recommended: Use a small amount of 
thread locker on this bolt. 

Begin by unpacking all items and inspecting 
for missing pieces or damage. If you have any 
concerns, please contact the company the 
product was purchased from. Extra hardware 
may be included with the product.

STEP 2  |  Use an 18mm socket to 
remove the factory bolt securing the strut 
in place. 

(2) M12x110 Hex
 
(2) M12 Flat Washer
 
(2) M12 Nylon Lock Nut

HARDWARE INCLUDED



INSTALLATION MANUAL

NEED HELP? 855-680-9595

STEP 3  |  Torque the factory bolt to 72 
ft-lbs using a 18mm socket.

STEP 4  |  Use a 17mm socket and 
19mm wrench to secure the provided M10 
hardware. 
 
 
Repeat steps for opposite side of the 
vehicle.

STEP 5  |  Double check fitment and all 
hardware is secure.  
 
Congratulations! You are finished with the 
install of the 10+ Toyota 4Runner Shock 
Skids.


